

Factorizations of reflexive-EP elements in rings

Dijana Mosić

Received: 7.V.2015 / Accepted: 14.VIII.2015

Abstract We present characterizations of reflexive-EP elements in rings using different kinds of factorizations, generalizing well-known characterizations of (weighted) EP matrices, (weighted) EP Hilbert space operators, (weighted) EP C^* -algebra elements and (weighted) EP Banach algebra elements. Also, we show that the product of two or more reflexive-EP elements is reflexive-EP.

Keywords EP elements · Outer inverse · Ring

Mathematics Subject Classification (2010) 16W10 · 15A09 · 46L05

1 Introduction

A square complex matrix (or a Hilbert space operator with closed range) A is said to be EP or range-Hermitian, if $R(A) = R(A^*)$ (EP for equal projections onto $R(A)$ and $R(A^*)$). EP matrices are a wide class of objects that include many matrices as their special cases, such as, Hermitian and normal matrices. Several authors in [1, 3, 7, 9] have addressed themselves to the question of characterizing EP matrices, EP linear operators on Banach or Hilbert spaces and EP elements of C^* -algebras or Banach algebras. In rings with involution EP elements are those elements for which the group and the Moore-Penrose inverse exist and coincide [19, 22]. The EP elements are important since they are characterized by commutativity with their Moore-Penrose inverse.

TIAN and WANG [24] introduced the notion of weighted-EP matrices (matrices that commute with their weighted Moore-Penrose inverse). Similar objects in the contexts of C^* -algebra elements, Banach space operators and Banach algebra elements are investigated in [5, 20].

One of the main lines of research concerning EP matrices and EP operators consists in characterizing them through factorizations. In [4, 10, 12, 21], the authors have char-

Dijana Mosić
Faculty of Sciences and Mathematics
University of Niš
P.O. Box 224, 18000 Niš, Serbia
E-mail: dijana@pmf.ni.ac.rs

acterized (weighted) EP matrices, Hilbert and Banach space operators and Banach and C^* -algebra elements through several different factorizations.

Several articles studied when the product of two EP matrices, Hilbert or Banach space operators, or elements of a C^* -algebra or a Banach algebra is again EP, see [2, 3, 8, 13, 14, 16].

In [17], the reflexive-EP elements in rings were defined and characterized, that is elements which commute with their reflexive image-kernel (p, q) -inverse. In this way EP objects are extended from C^* -algebras or rings with involution to rings, a context where no involution is available. Also, the reflexive-EP elements in rings were characterized using the factorization $a = uv$.

The objective of this article is to characterize reflexive-EP elements of rings using two kind of factorizations. Thus, we extend results [10] to the mentioned context where no involution is available, using an idea that is similar to the one that led to introduce EP Banach space operators and EP Banach algebra elements. Furthermore, we prove that the product of reflexive-EP elements is reflexive-EP.

2 Preliminary definitions and results

Let \mathcal{R} be a ring with the unit 1. The set of all idempotents of \mathcal{R} will be denoted by \mathcal{R}^\bullet . For $a \in \mathcal{R}$, we define the following kernel ideals $a^\circ = \{x \in \mathcal{R} : ax = 0\}$, ${}^\circ a = \{x \in \mathcal{R} : xa = 0\}$, and image ideals $a\mathcal{R} = \{ax : x \in \mathcal{R}\}$ and $\mathcal{R}a = \{xa : x \in \mathcal{R}\}$.

For $u, v \in \mathcal{R}^\bullet$, observe that $u^\circ = (1 - u)\mathcal{R}$ and ${}^\circ u = \mathcal{R}(1 - u)$. Also, we have

$$u\mathcal{R} = v\mathcal{R} \Leftrightarrow {}^\circ u = {}^\circ v$$

and

$$\mathcal{R}u = \mathcal{R}v \Leftrightarrow u^\circ = v^\circ.$$

Let $a \in \mathcal{R}$ and let $p, q \in \mathcal{R}^\bullet$. An element $b \in \mathcal{R}$ is the image-kernel (p, q) -inverse of a if

$$bab = b, \quad ba\mathcal{R} = p\mathcal{R} \quad \text{and} \quad (1 - ab)\mathcal{R} = q\mathcal{R}.$$

The image-kernel (p, q) -inverse b is unique if it exists [15], and it will be denoted by a^\times .

Notice that the condition $ba\mathcal{R} = p\mathcal{R}$ is equivalent to ${}^\circ(ba) = {}^\circ p$, and the condition $(1 - ab)\mathcal{R} = q\mathcal{R}$ is equivalent to $\mathcal{R}ab = \mathcal{R}(1 - q)$ which is equivalent to $(ab)^\circ = (1 - q)^\circ$.

An equivalent condition for the existence of the image-kernel (p, q) -inverse without explicit reference to ideals is given in following theorem.

Theorem 2.1 ([23], **Theorem 2.1**) *Let $p, q \in \mathcal{R}^\bullet$ and let $a \in \mathcal{R}$. Then the following statements are equivalent:*

- (i) a^\times exists,
- (ii) there exists some $b \in \mathcal{R}$ such that

$$b = pb, \quad bap = p, \quad bq = 0, \quad 1 - q = (1 - q)ab.$$

The element b in the part (ii) of Theorem 2.1 satisfies $b = a^\times$.

The image-kernel (p, q) -inverse of KANTÚN-MONTIEL [15] coincides with the (p, q, l) -outer generalized inverse of CAO and XUE [6]. The particular case of the image-kernel (p, q) -inverse is the (p, q) -outer generalized inverse, for more details see [11]. Inner image-kernel (p, q) -inverses in rings can be found in [18].

If the image-kernel (p, q) -inverse b of a satisfies the equations $a = aba$, then b is a reflexive image-kernel (p, q) -inverse of a and it is denote by $a^{(1,\times)}$. It follows that $a^{(1,\times)}$ is also unique in the case when it exists.

In [17], the reflexive-EP elements in rings were introduced in the following way.

Definition 2.2 *Let $a \in \mathcal{R}$ and $p, q \in \mathcal{R}^\bullet$ such that $a^{(1,\times)}$ exists. The element a is reflexive-EP if $aa^{(1,\times)} = a^{(1,\times)}a$.*

Thus, the reflexive-EP elements are elements which commute with their reflexive image-kernel (p, q) -inverse. In this way EP objects are extended from C^* -algebras or rings with involution to rings, a context where no involution is available.

Theorem 2.3 [17, Theorem 2.1] *Let $p, q \in \mathcal{R}^\bullet$ and let $a \in \mathcal{R}$ such that $a^{(1,\times)}$ exists. Then the following statements are equivalent:*

- (i) $aa^{(1,\times)} = a^{(1,\times)}a$,
- (ii) $a\mathcal{R} = p\mathcal{R}$ and $\mathcal{R}a = \mathcal{R}(1 - q)$,
- (iii) $a\mathcal{R} \supset p\mathcal{R}$ and $\mathcal{R}a \supset \mathcal{R}(1 - q)$,
- (iv) $^\circ a = ^\circ p$ and $a^\circ = (1 - q)^\circ$,
- (v) $a \in a^{(1,\times)}\mathcal{R}^{-1} \cap \mathcal{R}^{-1}a^{(1,\times)}$.

3 Factorization $a^{(1,\times)} = sa$

In this section, we will characterize reflexive-EP elements of a ring through factorizations of the form $a^{(1,\times)} = sa$. Note that in contexts where an involution exists, i.e., matrices, Hilbert space operators or C^* -algebras, this kind of factorization correspond to $a^* = sa$.

Theorem 3.1 *Let $p, q \in \mathcal{R}^\bullet$ and let $a \in \mathcal{R}$ such that $a^{(1,\times)}$ exists. Then the following statements are equivalent:*

- (i) a is reflexive-EP element;
- (ii) $\exists s, t \in \mathcal{R} : s^\circ = \{0\}, t\mathcal{R} = \mathcal{R}$ and $a^{(1,\times)} = sa = at$;
- (iii) $\exists s_1, t_1 \in \mathcal{R} : a^{(1,\times)} = s_1a = at_1$;
- (iv) $\exists u, v \in \mathcal{R} : a^{(1,\times)}a = au$ and $aa^{(1,\times)} = va$;
- (v) $\exists u_1, v_1 \in \mathcal{R} : a^{(1,\times)}a = u_1a^{(1,\times)}$ and $aa^{(1,\times)} = a^{(1,\times)}v_1$;
- (vi) $\exists x, y \in \mathcal{R}^{-1} : a^{(1,\times)}a = xaa^{(1,\times)} = aa^{(1,\times)}y$;
- (vii) $\exists x_1, y_1 \in \mathcal{R} : x_1^\circ = \{0\}; y_1\mathcal{R} = \mathcal{R}$ and $a^{(1,\times)}a = x_1aa^{(1,\times)} = aa^{(1,\times)}y_1$;
- (viii) $\exists x_2, y_2 \in \mathcal{R} : x_2^\circ = \{0\}$ and $a^{(1,\times)}a = x_2aa^{(1,\times)} = aa^{(1,\times)}y_2$;
- (ix) $\exists z_1, z_2 \in \mathcal{R} : a^{(1,\times)}a = az_1a^{(1,\times)}$ and $aa^{(1,\times)} = a^{(1,\times)}z_2a$.

Proof. (i) \Rightarrow (ii): By Theorem 2.3, the statement (i) implies $a \in a^{(1,\times)}\mathcal{R}^{-1} \cap \mathcal{R}^{-1}a^{(1,\times)}$. So, there exist $s, t \in \mathcal{R}^{-1}$ such that $a^{(1,\times)} = sa = at$ and (ii) holds.

(ii) \Rightarrow (iii): This is trivial.

(iii) \Rightarrow (i): Using the statements (iii), we get $a^{(1,\times)}\mathcal{R} \subset a\mathcal{R}$ and $\mathcal{R}a^{(1,\times)} \subset \mathcal{R}a$, which give

$$p\mathcal{R} = a^{(1,\times)}a\mathcal{R} = a^{(1,\times)}\mathcal{R} \subset a\mathcal{R}$$

and

$$\mathcal{R}(1 - q) = \mathcal{R}aa^{(1,\times)} = \mathcal{R}a^{(1,\times)} \subset \mathcal{R}a.$$

Hence, by Theorem 2.3, we deduce that a is reflexive–EP element.

(i) \Rightarrow (iv): It follows for $u = v = a^{(1,\times)}$.

(iv) \Rightarrow (i): If the hypothesis (iv) holds, then $p\mathcal{R} = a^{(1,\times)}a\mathcal{R} \subset a\mathcal{R}$ and $\mathcal{R}(1 - q) = \mathcal{R}aa^{(1,\times)} \subset \mathcal{R}a$. Applying Theorem 2.3, we conclude that the statement (i) is satisfied.

(i) \Rightarrow (v): This implication is evident for $u_1 = v_1 = a$.

(v) \Rightarrow (i): Suppose that there exist $u_1, v_1 \in \mathcal{R}$ such that $a^{(1,\times)}a = u_1a^{(1,\times)}$ and $aa^{(1,\times)} = a^{(1,\times)}v_1$. Then

$$a^{(1,\times)}a = u_1a^{(1,\times)}aa^{(1,\times)} = a^{(1,\times)}aaa^{(1,\times)}$$

and

$$aa^{(1,\times)} = a^{(1,\times)}aa^{(1,\times)}v_1 = a^{(1,\times)}aaa^{(1,\times)}$$

yield $a^{(1,\times)}a = aa^{(1,\times)}$. Therefore, the statement (i) holds.

(i) \Rightarrow (vi): Obviously, for $x = y = 1$.

(vi) \Rightarrow (vii) \Rightarrow (viii): It is easy to verify these implications.

(viii) \Rightarrow (i): The equality $a^{(1,\times)}a = x_2aa^{(1,\times)}$ gives $(aa^{(1,\times)})^\circ \subset (a^{(1,\times)}a)^\circ$. On the other hand, if $y \in (a^{(1,\times)}a)^\circ$, then $a^{(1,\times)}ay = 0$, that is, $x_2aa^{(1,\times)}y = 0$. Since $x_2^\circ = \{0\}$, we have $aa^{(1,\times)}y = 0$ and so $y \in (aa^{(1,\times)})^\circ$. Thus, $(a^{(1,\times)}a)^\circ \subset (aa^{(1,\times)})^\circ$. Now, we obtain $(aa^{(1,\times)})^\circ = (a^{(1,\times)}a)^\circ$ which implies $\mathcal{R}aa^{(1,\times)} = \mathcal{R}a^{(1,\times)}a$. So, $\mathcal{R}(1 - q) = \mathcal{R}a$.

From the assumption $a^{(1,\times)}a = aa^{(1,\times)}y_2$, it follows $p\mathcal{R} = a^{(1,\times)}a\mathcal{R} \subset a\mathcal{R}$. Using Theorem 2.3, we show that the element a is reflexive–EP.

(i) \Rightarrow (ix): If we state that $z_1 = z_2 = 1$, this implication follows.

(ix) \Rightarrow (i): Observe that the equalities $a^{(1,\times)}a = az_1a^{(1,\times)}$ and $aa^{(1,\times)} = a^{(1,\times)}z_2a$ imply

$$p\mathcal{R} = a^{(1,\times)}a\mathcal{R} = az_1a^{(1,\times)}\mathcal{R} \subset a\mathcal{R}$$

and

$$\mathcal{R}(1 - q) = \mathcal{R}aa^{(1,\times)} = \mathcal{R}a^{(1,\times)}z_2a \subset \mathcal{R}a.$$

Consequently, by Theorem 2.3, (i) holds. \square

4 Factorization of the form $a = ucv$

In this section, the reflexive–EP elements of the form $a = ucv$ will be characterized.

Theorem 4.1 *Let $p, q \in \mathcal{R}^\bullet$ and let $a \in \mathcal{R}$ such that $a^{(1,\times)}$ exists. Then the following statements are equivalent:*

- (i) a is reflexive–EP element;
- (ii) $\exists c, d, u, v \in \mathcal{R} : a = ucv, a^{(1,\times)} = udv, v\mathcal{R} = \mathcal{R} = \mathcal{R}u, c\mathcal{R} = d\mathcal{R}$ and $\mathcal{R}c = \mathcal{R}d$;
- (iii) $\exists c, d, u, v \in \mathcal{R} : a = ucv, a^{(1,\times)} = udv, u^\circ = \{0\} = {}^\circ v, c^\circ = d^\circ$ and ${}^\circ c = {}^\circ d$;

- (iv) $\exists c, d, u, v \in \mathcal{R} : a^{(1,\times)}a = ucv, aa^{(1,\times)} = udv, v\mathcal{R} = \mathcal{R} = \mathcal{R}u, c\mathcal{R} = d\mathcal{R}$ and $\mathcal{R}c = \mathcal{R}d$;
 (v) $\exists c, d, u, v \in \mathcal{R} : a^{(1,\times)}a = ucv, aa^{(1,\times)} = udv, u^\circ = \{0\} = {}^\circ v, c^\circ = d^\circ$ and ${}^\circ c = {}^\circ d$.

Proof. (i) \Rightarrow (ii): Assume that $u = v = 1, c = a$ and $d = a^{(1,\times)}$. Now, we have $v\mathcal{R} = \mathcal{R} = \mathcal{R}u$,

$$c\mathcal{R} = a\mathcal{R} = aa^{(1,\times)}\mathcal{R} = a^{(1,\times)}a\mathcal{R} = a^{(1,\times)}\mathcal{R} = d\mathcal{R}$$

and

$$\mathcal{R}c = \mathcal{R}a = \mathcal{R}a^{(1,\times)}a = \mathcal{R}aa^{(1,\times)} = \mathcal{R}a^{(1,\times)} = \mathcal{R}d.$$

(ii) \Rightarrow (i): If there exist $c, d, u, v \in \mathcal{R}$ such that $a = ucv, a^{(1,\times)} = udv, v\mathcal{R} = \mathcal{R} = \mathcal{R}u, c\mathcal{R} = d\mathcal{R}$ and $\mathcal{R}c = \mathcal{R}d$, then

$$a\mathcal{R} = ucv\mathcal{R} = uc\mathcal{R} = ud\mathcal{R} = udv\mathcal{R} = a^{(1,\times)}\mathcal{R} = a^{(1,\times)}a\mathcal{R} = p\mathcal{R}$$

and

$$\mathcal{R}a = \mathcal{R}ucv = \mathcal{R}cv = \mathcal{R}dv = \mathcal{R}udv = \mathcal{R}a^{(1,\times)} = \mathcal{R}aa^{(1,\times)} = \mathcal{R}(1 - q).$$

By Theorem 2.3, we conclude that a is reflexive-EP element.

(i) \Rightarrow (iii): The hypothesis (i) and Theorem 2.3 imply ${}^\circ a = {}^\circ p$ and $a^\circ = (1 - q)^\circ$. Choose $u = v = 1, c = a$ and $d = a^{(1,\times)}$. Then

$$c^\circ = a^\circ = (1 - q)^\circ = (aa^{(1,\times)})^\circ = (a^{(1,\times)})^\circ = d^\circ$$

and

$${}^\circ c = {}^\circ a = {}^\circ p = {}^\circ(a^{(1,\times)}a) = {}^\circ(a^{(1,\times)}) = {}^\circ d.$$

(iii) \Rightarrow (i): Suppose that there exist $c, d, u, v \in \mathcal{R}$ satisfying $a = ucv, a^{(1,\times)} = udv, u^\circ = \{0\} = {}^\circ v, c^\circ = d^\circ$ and ${}^\circ c = {}^\circ d$. In order to prove that $a^\circ = (a^{(1,\times)})^\circ$, let $x \in a^\circ$, i.e. $ucvx = 0$. Now, because $u^\circ = \{0\}$, $cvx = 0$. Hence, $vx \in c^\circ = d^\circ$, that is, $dvx = 0$ which gives $a^{(1,\times)}x = udvx = 0$. So, $a^\circ \subseteq (a^{(1,\times)})^\circ$. The reverse inclusion follows similarly. Therefore, $a^\circ = (a^{(1,\times)})^\circ = (aa^{(1,\times)})^\circ = (1 - q)^\circ$.

From the assumptions $\{0\} = {}^\circ v$ and ${}^\circ c = {}^\circ d$, we analogly obtain ${}^\circ a = {}^\circ(a^{(1,\times)})$. Thus, ${}^\circ a = {}^\circ(a^{(1,\times)}) = {}^\circ(a^{(1,\times)}a) = {}^\circ p$ and so the element a is reflexive-EP, by Theorem 2.3.

(i) \Rightarrow (iv) \wedge (v): For $u = v = 1, c = a^{(1,\times)}a$ and $d = aa^{(1,\times)}$, we easy check this part.

(iv) \Rightarrow (i): The statement (iv) gives

$$p\mathcal{R} = a^{(1,\times)}a\mathcal{R} = ucv\mathcal{R} = uc\mathcal{R} = ud\mathcal{R} = udv\mathcal{R} = aa^{(1,\times)}\mathcal{R} = a\mathcal{R}$$

and

$$\mathcal{R}a = \mathcal{R}a^{(1,\times)}a = \mathcal{R}ucv = \mathcal{R}cv = \mathcal{R}dv = \mathcal{R}udv = \mathcal{R}aa^{(1,\times)} = \mathcal{R}(1 - q).$$

Using Theorem 2.3, we deduce that (i) is satisfied.

(v) \Rightarrow (i): In the similar way as the implication (iii) \Rightarrow (i), we prove this part. \square

Now, we characterize reflexive-EP elements in terms of the existence of idempotents.

Theorem 4.2 *Let $p, q \in \mathcal{R}^\bullet$ and let $a \in \mathcal{R}$. Then the following statements are equivalent:*

- (i) *a is reflexive-EP element;*
- (ii) $\exists r \in \mathcal{R}^\bullet : p\mathcal{R} = r\mathcal{R}, \mathcal{R}(1 - q) = \mathcal{R}r$ and $a = rar \in (r\mathcal{R}r)^{-1}$;
- (iii) $\exists c \in \mathcal{R}^{-1}, \exists r \in \mathcal{R}^\bullet : rar \in (r\mathcal{R}r)^{-1}, a = crarc^{-1}, c^{-1}p\mathcal{R} = r\mathcal{R}$ and $\mathcal{R}(1 - q)c = \mathcal{R}r$.

Proof. (i) \Rightarrow (ii): Denote by $r = a^{(1, \times)}a = aa^{(1, \times)}$. Now, we have $r^2 = r, r\mathcal{R} = a^{(1, \times)}a\mathcal{R} = p\mathcal{R}$ and $\mathcal{R}(1 - q) = \mathcal{R}aa^{(1, \times)} = \mathcal{R}r$. Since

$$rar = aa^{(1, \times)}ar = ar = aa^{(1, \times)}a = a$$

and

$$ra^{(1, \times)}r = a^{(1, \times)}aa^{(1, \times)}r = a^{(1, \times)}r = a^{(1, \times)}aa^{(1, \times)} = a^{(1, \times)},$$

then

$$rarr a^{(1, \times)}r = aa^{(1, \times)} = r = a^{(1, \times)}a = ra^{(1, \times)}rrar.$$

Hence, $rar \in (r\mathcal{R}r)^{-1}$ and $(rar)^{-1} = ra^{(1, \times)}r$.

(ii) \Rightarrow (iii): It follows for $c = 1$.

(iii) \Rightarrow (i): Because $rar \in (r\mathcal{R}r)^{-1}$, there exists $b \in \mathcal{R}$ such that $rarbr = r = rbrar$. Let $x = crbrc^{-1}$. The assumptions $a = crarc^{-1}$ implies

$$ax = crarbr c^{-1} = crc^{-1} = crbrc^{-1} = xa. \quad (4.1)$$

From $c^{-1}p\mathcal{R} = r\mathcal{R}$ and $\mathcal{R}(1 - q)c = \mathcal{R}r$, we get $c^{-1}pc\mathcal{R} = r\mathcal{R}$ and $\mathcal{R}c^{-1}(1 - q)c = \mathcal{R}r$ which give $r = c^{-1}pcr, c^{-1}pc = rc^{-1}pc, rc^{-1}(1 - q)c = r$ and $c^{-1}(1 - q)cr = c^{-1}(1 - q)c$. So, $cr = pcr, p = crc^{-1}p, rc^{-1}q = 0$ and $(1 - q)cr = (1 - q)c$ which imply

$$px = pcrbrc^{-1} = crbrc^{-1} = x,$$

$$xap = crc^{-1}p = p,$$

$$xq = crbrc^{-1}q = 0,$$

$$(1 - q)ax = (1 - q)crc^{-1} = (1 - q)cc^{-1} = 1 - q.$$

By these equalities and Theorem 2.1, we deduce that $x = a^\times$. Since the element x satisfies $axa = crarc^{-1} = a$ and (4.1), then $x = a^{(1, \times)}$ and a is reflexive-EP element. \square

In the preceding theorem we can express $a^{(1, \times)}$ in terms of the idempotent r and ordinary inverse in \mathcal{R} :

$$a^{(1, \times)} = rbr = (a + 1 - r)^{-1}r$$

or

$$a^{(1, \times)} = crbrc^{-1} = c(a + 1 - r)^{-1}rc^{-1},$$

using the relation between the ordinary and $r\mathcal{R}r$ inverses; it is known that rar is invertible in $r\mathcal{R}r$ if and only if $rar + 1 - r$ is invertible in \mathcal{R} .

If \mathcal{R} is a ring with involution and $a \in \mathcal{R}$ is a Moore-Penrose invertible element, then $b = a^\dagger$ is the reflexive image-kernel (p, q) -inverse of a , where $p = a^\dagger a$ and $q = 1 - aa^\dagger$. Notice that the results of the previous sections recover some results related to the corresponding factorizations presented in [4].

5 Product of reflexive-EP elements

In the following theorem, it will be proved that the product of two reflexive-EP elements is reflexive-EP.

Theorem 5.1 *Let $p, q \in \mathcal{R}^\bullet$ and let $a, b \in \mathcal{R}$ be reflexive-EP elements. Then the following statements hold:*

- (i) ab is reflexive-EP element;
- (ii) $ab\mathcal{R} = b\mathcal{R}$ and $\mathcal{R}ab = \mathcal{R}a$;
- (iii) ${}^\circ(ab) = {}^\circ b$ and $(ab)^\circ = a^\circ$;
- (iv) $(ab)^{(1,\times)}$ exists and $(ab)^{(1,\times)} = b^{(1,\times)}a^{(1,\times)}$.

Proof. (i) Since a and b are reflexive-EP elements, by Theorem 2.3, $a\mathcal{R} = p\mathcal{R} = b\mathcal{R}$ and $\mathcal{R}a = \mathcal{R}(1 - q) = \mathcal{R}b$ which yield $aa^{(1,\times)}\mathcal{R} = bb^{(1,\times)}\mathcal{R}$ and $\mathcal{R}a^{(1,\times)}a = \mathcal{R}b^{(1,\times)}b$. There exist $x, y \in \mathcal{R}$ such that $aa^{(1,\times)} = bb^{(1,\times)}x$ and $b^{(1,\times)}b = ya^{(1,\times)}a$. So, from

$$aa^{(1,\times)} = bb^{(1,\times)}bb^{(1,\times)}x = bb^{(1,\times)}aa^{(1,\times)}$$

and

$$b^{(1,\times)}b = ya^{(1,\times)}aa^{(1,\times)}a = b^{(1,\times)}ba^{(1,\times)}a$$

we get $aa^{(1,\times)} = b^{(1,\times)}b$ implying $pb^{(1,\times)}a^{(1,\times)} = b^{(1,\times)}a^{(1,\times)}$, $b^{(1,\times)}a^{(1,\times)}q = 0$,

$$b^{(1,\times)}a^{(1,\times)}abp = b^{(1,\times)}bb^{(1,\times)}bp = b^{(1,\times)}bp = p,$$

$$(1 - q)abb^{(1,\times)}a^{(1,\times)} = (1 - q)aa^{(1,\times)}aa^{(1,\times)} = (1 - q)aa^{(1,\times)} = 1 - q$$

and

$$abb^{(1,\times)}a^{(1,\times)}ab = aa^{(1,\times)}aa^{(1,\times)}ab = ab.$$

Thus, we conclude that $(ab)^{(1,\times)}$ exists and $(ab)^{(1,\times)} = b^{(1,\times)}a^{(1,\times)}$. The equalities

$$ab\mathcal{R} = ap\mathcal{R} = aa^{(1,\times)}a\mathcal{R} = a\mathcal{R} = p\mathcal{R},$$

$$\mathcal{R}ab = \mathcal{R}(1 - q)b = \mathcal{R}bb^{(1,\times)}b = \mathcal{R}(1 - q)$$

and Theorem 2.3 give that ab is reflexive-EP element.

The statements (ii) and (iv) follow by the previous part.

(iii) The equality $ab\mathcal{R} = b\mathcal{R}$ is equivalent to $ab(ab)^{(1,\times)}\mathcal{R} = bb^{(1,\times)}\mathcal{R}$. Because $ab(ab)^{(1,\times)}, bb^{(1,\times)} \in \mathcal{R}^\bullet$, the last equality is equivalent to ${}^\circ[ab(ab)^{(1,\times)}] = {}^\circ[bb^{(1,\times)}]$, i.e. ${}^\circ(ab) = {}^\circ b$. In the similar way, we verify that $\mathcal{R}ab = \mathcal{R}a$ is equivalent to $(ab)^\circ = a^\circ$. \square

Using Theorem 5.1, we can show the next result.

Corollary 5.2 *Let $p, q \in \mathcal{R}^\bullet$, $n \in \mathbb{N}$ and let $a_1, a_2, \dots, a_n \in \mathcal{R}$ be reflexive-EP elements. Then the following statements hold:*

- (i) $a_1a_2 \dots a_n$ is reflexive-EP element;
- (ii) $a_1a_2 \dots a_n\mathcal{R} = a_n\mathcal{R}$ and $\mathcal{R}a_1a_2 \dots a_n = \mathcal{R}a_1$;
- (iii) ${}^\circ(a_1a_2 \dots a_n) = {}^\circ a_n$ and $(a_1a_2 \dots a_n)^\circ = a_1^\circ$;
- (iv) $(a_1a_2 \dots a_n)^{(1,\times)}$ exists and $(a_1a_2 \dots a_n)^{(1,\times)} = a_n^{(1,\times)} \dots a_1^{(1,\times)}$.

Acknowledgements The author is supported by the Ministry of Education and Science, Republic of Serbia, grant no. 174007.

References

1. BAKSALARY, O.M.; TRENKLER, G. – *Characterizations of EP, normal, and Hermitian matrices*, Linear Multilinear Algebra, 56 (2008), 299–304.
2. BASKETT, T.S.; KATZ, I.J. – *Theorems on products of EP_r matrices*, Linear Algebra Appl., 2 (1969), 87–103.
3. BOASSO, E. – *On the Moore-Penrose inverse, EP Banach space operators, and EP Banach algebra elements*, J. Math. Anal. Appl., 339 (2008), 1003–1014.
4. BOASSO, E. – *Factorizations of EP Banach space operators and EP Banach algebra elements*, J. Math. Anal. Appl., 379 (2011), 245–255.
5. BOASSO, E.; DJORDJEVIĆ, D.S.; MOSIĆ, D. – *Weighted Moore-Penrose invertible and weighted EP Banach algebra elements*, J. Korean Math. Soc., 50 (2013), 1349–1367.
6. CAO, J.; XUE, Y. – *The characterizations and representations for the generalized inverses with prescribed idempotents in Banach algebras*, Filomat, 27 (2013), 851–863.
7. CHENG, S.; TIAN, Y. – *Two sets of new characterizations for normal and EP matrices*, Linear Algebra Appl., 375 (2003), 181–195.
8. DJORDJEVIĆ, D.S. – *Products of EP operators on Hilbert spaces*, Proc. Amer. Math. Soc., 129 (2001), 1727–1731 (electronic).
9. DJORDJEVIĆ, D.S.; KOLIHA, J.J. – *Characterizing Hermitian, normal and EP operators*, Filomat, 21 (2007), 39–54.
10. DJORDJEVIĆ, D.S.; KOLIHA, J.J.; STRAŠKRABA, I. – *Factorization of EP elements in C^* -algebras*, Linear Multilinear Algebra 57 (2009), no. 6, 587594.
11. DJORDJEVIĆ, D.S.; WEI, Y. – *Outer generalized inverses in rings*, Comm. Algebra, 33 (2005), 3051–3060.
12. DRIVALIARIS, D.; KARANASIOS, S.; PAPPAS, D. – *Factorizations of EP operators*, Linear Algebra Appl., 429 (2008), 1555–1567.
13. HARTWIG, R.E.; KATZ, I.J. – *Products of EP elements in reflexive semigroups*, Linear Algebra and Appl., 14 (1976), 11–19.
14. HARTWIG, R.E.; KATZ, I.J. – *On products of EP matrices*, Linear Algebra Appl., 252 (1997), 339–345.
15. KANTÚN-MONTIEL, G. – *Outer generalized inverses with prescribed ideals*, Linear Multilinear Algebra, 62 (2014), 1187–1196.
16. KOLIHA, J.J. – *Elements of C^* -algebras commuting with their Moore-Penrose inverse*, Studia Math., 139 (2000), 81–90.
17. MOSIĆ, D. – *Reflexive-EP elements in rings*, Bull. Malays. Math. Sci. Soc., accepted.
18. MOSIĆ, D.; DJORDJEVIĆ, D.S. – *Inner image-kernel (p, q) -inverses in rings*, Appl. Math. Comput., 239 (2014), 144–152.
19. MOSIĆ, D.; DJORDJEVIĆ, D.S. – *Partial isometries and EP elements in rings with involution*, Electron. J. Linear Algebra, 18 (2009), 761–772.
20. MOSIĆ, D.; DJORDJEVIĆ, D.S. – *Weighted-EP elements in C^* -algebras*, Electron. J. Linear Algebra, 22 (2011), 912–930.
21. MOSIĆ, D.; DJORDJEVIĆ, D.S. – *Factorization of weighted-EP elements in C^* -algebras*, Appl. Math. Comput., 218 (2012), 5383–5390.
22. MOSIĆ, D.; DJORDJEVIĆ, D.S.; KOLIHA, J.J. – *EP elements in rings*, Linear Algebra Appl., 431 (2009), 527–535.
23. MOSIĆ, D.; DJORDJEVIĆ, D.S.; KANTÚN-MONTIEL, G. – *Image-kernel (P, Q) -inverses in rings*, Electron. J. Linear Algebra, 27 (2014), 272–283.
24. Tian, Y.; Wang, H. – *Characterizations of EP matrices and weighted-EP matrices*, Linear Algebra Appl., 434 (2011), 1295–1318.